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Boletin Sistemas Ill — Matematicas 4° E.S.O.
Ejemplo
X+ 2y_22 - 2 Despejamos
3X -3y +z=-14 unavaible ,y _2_2y427
5x-y—-2z=-15

sustituimos en \3(2— 2y +27)-3y+z=-14 . 6-6y+6z-3y+z=-14
5(2-2y +2z)-y-2z=-15] ~10-10y +10z -y -2z =-15

(x11)-9y+7z2=-20  —-99y+ 77z =220
-9y +7z2=-20
11y 48y — 25}—>(x(—9))—11y+82:—25—> +99y — 72z = 225
ThyTeesT 52=5[z=1]
(x8)-9y +7z =-20 ~ 72y +56z = -160
-9y +7z=-20
}—)(x(—?))—11y+82=—25—> +77y —56z =175
-11y+8z=-25
Sy =15y =3
X=06
x:2—2(+1)+2(+3):6—> y=3
z=1

1. Resuelve el siguiente sistema de ecuaciones

X+y—-2z=0 3X—-4y—-2z=2
a 12x—-3y+3z=4 .. §X+5y+3z=5
5x -5y +4z=8 2x+y—-z=11
X+2y-3z=7 Sx+2y+3z=4
b. 12X+y—-z=6 d {2x+2y+z=3
3X-y-z=6 X—-2y+2z=-3
2. Resuelve el siguiente sistema de ecuaciones
X+y—-3z=2 X+2y+z=0
a. {2X-y+z=-4 b 12X—z=1
3X+y+5z2=10 3X-y—-2z2=3
Sol:x=0;y=5;z=1 Sol:x=3;y=—4,z=5



